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Al 666,122 H|S 628,070 | H|S 724,704 | H|8 6.1 A8.1

x| gt A 83,500 12.5 82,600 13.2 85,000 11.7 1.1 A8

Moo = ¢ 60,244 9.0 60,704 9.7 58,564 = 8.1 ~0.8 2.9

R R R R 55,867 8.4 56,363 9.0 52,282 7.2 A0.9 6.9

AA A A €] 4,377 0.7 4,341 0.7 6,282 0.9 0.8 2303

N X g m R A 257,468 = 38.7 242,570 38.6 277,363  38.3 6.1 AT.2

MEEHF 15,250 2.3 15,200 2.4 15,420 2.1 0.3 A1

oo 2 = 3 211,347 | 31.7 191,842 30.5 204,566 = 28.2 10.2 3.3

EaRIA = 168,985 @ 25.4 152,912 24.3 159,462 | 22.0 10.5 6.0

TH R 42,362 6.4 38,930 6.2 45,104 6.2 8.8 NB.1

PN S = = = = 11,440 1.6 | #DIV/0! | A100.0

EdFAUS 38,313 5.8 35,154 5.6 72,351 | 10.0 9.0 A47.0

Aoty 33,719 5.1 30,692 4.9 31,839 4.4 9.9 5.9

SSE MY ot 7,284 1.1 10,714 1.7 14,408 2.0  A320 N49.4

s 8,784 1.3 9,978 1.6 11,045 1.5 | A12.0 | A20.5

232kt 52,917 7.9 49,589 7.9 61,735 8.5 6.7 | A14.3

SHES 80,420 12.1 86,853 13.8 100,048 13.8 AT.4 | A19.6

7] AEIEX| 171,844 | 25.8 141,917 22.6 167,199 | 23.1 21.1 2.8

o= 11,388 1.7 9,252 1.5 10,137 1.4 23.1 12.3

© S ol 2kt 63,308 9.5 53,931 8.6 60,795 8.4 17.4 41

2 M sy 11,391 1.7 13,840 2.2 16,670 2.3 | A17.7 N31.7

Al +&531ns 46,420 7.0 39,336 6.3 51,014 7.0 18.0 A9.0

TEIX| AL 68,523 = 10.3 75,880 12.1 79,248  10.9 A9.7 | A13.5

S els - - 60 0.0 60 0.0 - -

= ofl ] H| 7,124 11 6,963 1.1 2,450 0.3 2.3 190.8

7| et 102,999 15.5 99,065 15.8 98,057  13.5 4.0 5.0

Q1 Z4H| 97,320 | 14.6 93,034 14.8 94,606 @ 13.1 4.6 2.9

=al] 55,959 8.4 53,421 8.5 55,828 7.7 4.8 0.2

N BHo|d 264,626 | 39.7 232,415 37.0 259,143 = 35.8 13.9 2.1

o AEXE 216,120 = 32.4 222,486 35.4 270,601 | 37.3 A2.9 | A20.1
Al

S EX} 100 0.0 900 0.1 900 = 0.1 | 2889 2889

2 2rAe 9,456 1.4 8,916 1.4 20,356 2.8 6.1 A53.5

L 57 2h 7,058 1.1 6,537 1.0 9,826 1.4 8.0 1282

ofH[H[ 7| E} 14,482 2.2 10,361 1.6 13,444 1.9 39.8 7.7
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RN =1 L | 257,468 @ 44.6 242 570 45.7 277,363 = 44.6 6.1 AT 2
MHEHZ 15,250 2.6 15,200 2.9 15,420 @ 2.5 0.3 A1
o 2 = F 189,363 32.8 160,051 30.2 176,519 | 28.4 18.3 7.3
A 147,935 | 25.6 121,979 23.0 132,214  21.3 21.3 11.9
U REF 41,428 7.2 38,072 7.2 44,305 7.1 8.8 NB.5
A o8 M S = = = = 11,440 1.8 | #DIV/0! | A100.0
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Aotz sy 33,719 5.8 30,692 5.8 31,839 5.1 9.9 5.9
S3EM Yo 7,284 1.3 10,714 2.0 14,408 2.3  A32.0 | A49.4
imE=; 8,784 1.5 9,978 1.9 11,045 1.8 | A12.0  A20.5
25t 2t 52,917 9.2 49,589 9.3 61,735 | 9.9 6.7 | ~14.3
HES 30,932 5.4 33,298 6.3 43,377 7.0 AT A N28.7
71| AtEIEX| 168,622 29.2 138,676 26.1 163,879  26.3 21.6 2.9
. =2A 11,388 2.0 9,252 1.7 10,137 1.6 23.1 12.3
< Sl e at 63,308 11.0 53,931 10.2 60,795 9.8 17.4 4.1
E RN R T 9,941 1.7 12,435 2.3 15,265 2.5  A20.1 ~34.9
Al =53 UE 43,850 7.6 36,922 7.0 48,047 7.7 18.8 N8.7
T EYX| AT 43,152 7.5 45,418 8.6 47,471 7.6 A5.0 9.1
- e - - 60 0.0 60 0.0 A100.0 A100.0
= of|t|H| 7,124 1.2 6,963 1.3 2,450 0.4 2.3 190.8
7|t 96,502 16.7 92,806 17.5 91,532 14.7 4.0 5.4
pball 91,412 1538 87,364 16.5 88,705 @ 14.3 4.6 3.1
=xalll 41,460 7.2 39,279 7.4 41,484 | 6.7 5.6 A0.1
M| Gaold 252,621 = 43.7 219,602 41.4 246,211  39.6 15.0 2.6
o EXE 172,764  29.9 166,862 31.4 214,267 | 34.4 3.5  A19.4
SALEX} - - - - - - | #DIV/Ol  #DIV/0!
RSP E 4,107 0.7 4,107 0.8 15,547 = 2.5 0.0 A73.6
L 74 2H 7,028 1.2 6,512 1.2 9,801 1.6 7.9 N~28.3
oflu|H| 7| Et 7,132 1.2 7,008 1.3 6,025 1.0 1.8 18.4
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T &2 20149 £ o v Saal| ZEoal
A 65,285 @ H|& 76,182  H|8 69,705 @ H|g 5.7 6.8
X A - - - - - - #DIV/0! = #DIV/0!
Noel = ¢ 43,301  66.3 44,391 58.3 41,658 59.8 13.2 13.0
A AL 41,005  62.8 41,973 55.1 38,799 | 55.7 8.1 39.7
AA A AL 2,296 3.5 2,418 3.2 2,859 4.1 23.8 | A15.8
M x| g m &M - - - - - - #DIV/0! = #DIV/0!
MyEHZ - - - - - - #DIV/0l = #DIV/0!
g =2 = 3 21,984  33.7 31,791 4.7 28,047  40.2 AT A A4.0
s 21,050 @ 32.2 30,933 40.6 27,248  39.1 N5.6 A2.3
CH R EF 934 1.4 858 1.1 799 1.1 | A414 | ~41.2
X g M S - - — - - - #DIV/0l = #DIV/0!
BNME=US 23,313 4.0 21,154 4.0 32,959 = 5.3 | #DIV/0! | #DIV/0!
Aot sy - - - - - - #DIV/0!  #DIV/0!
SSEML N - - - - - - #DIV/0!  #DIV/0!
mE=; - - - - - - #DIV/0l  #DIV/0!
23ty 2k - - - - - - #DIV/0!  #DIV/0!
SHE T 49,488 @ 75.8 53,555 70.3 56,671 = 81.3 A8.3 | A13.0
7| AtElSXE| 3,222 4.9 3,241 4.3 3,320 4.8 9.1 41
_2A - - - - - - #DIV/0l  #DIV/0!
° myssal - - - - - - #DIV/0!  #DIV/0!
E RPN R T 1,450 2.2 1,405 1.8 1,405 2.0 189.1 3.6
Al F5YNE 2,570 3.9 2,414 3.2 2,967 | 4.3 7.5 N5.7
TEFX| AT 25,371 | 38.9 30,462 40.0 31,777  45.6 38.8 83.5
- e - - - - - - #DIV/0!  #DIV/0!
= of|t|H| - - - - - - #DIV/0!  #DIV/0!
7| Et 6,497  10.0 6,259 8.2 6,525 @ 9.4 2.8 4.6
bl 5,908 9.0 5,670 7.4 5,901 8.5 41 5.8
=ral] 14,499 222 14,142 18.6 14,344 20.6 3.9 A1.8
N Zao|H 12,005 18.4 12,813 16.8 12,932  18.6 13.7 13.1
o MEXE 43,356 66.4 55,624 73.0 56,334  80.8 4.7 15.0
SAUEX} 100 0.2 900 1.2 900 1.3 | #DIV/0! 1,185.7
2 EEN 5,349 8.2 4,809 6.3 4,809 6.9 | A157 | A26.0
L 74 2H 30 0.0 25 0.0 25 0.0 257.1 N54.5
ofH|H| 27| E} 7,350 | 11.3 3,353 4.4 7,419 | 10.6 14.6 N33.7
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B (Ar7128) A =el | ss Al@el gl T
25 65M SEE 13km, 23 51%
(F5~d=) (2004~2015) 1,055 824 140 140 91
T 75M stz 8.5km, 2™ 5%
(SAZ2al~EsiZA)  (2007~2016) 729 159) 146 146 424
2z 3554 EEE 11km, 2% 63%
(Shabo A Al (2007-2015) 478 359 99 99 20
[0 = EH[ALS
(EERTETE)
al 2014 01|ﬂ°” StES
Ao o a2 Ealelsl 71X} K g%
(At Z12h) A 24| | g8  Almb| 7lgp T
ol ¢ & XA 12,715m
(S ofx| =) (2012 ~2014) 9,035 6552 2483 1,004 218 1171
oA 57/ che 25| 72| x4y
Ctom Al arey| (2000-2015) 35720 11,200 6,000 2,000 600 1,400 2000 18520
O =35 At|||:|§|_ 1;320m2(xlgl-1ax|}<\;
oo e 1) 9,000 5500 3500 1,750 525 1,225
M A
(2012~2014)
srHgEm 2% 4K WaHTE
2 (2013-2017) 42,333 5505 8,003 8,093 28,735
s MES 31,746m
vt (2013-2015) 10,200 4000 4200 1,260 882 2,058 2,000
ZECH M3 2 | 31,746m
g (201 4~2016) 13,000 700 700 12,300
i} 2,235m
desoEssTy | , , , ,
S S otM 45 nh A B (20122015) 3,965 1275 2,040 1,200 360 480 650
MEFASMAEEAl | 1=9.3km
L o pho ALl (2011~2015) 22,781 7677 7500 5250 2,250 7,604
AP M ShEA 2] & Q=1,100m /&
g (2011~2015) 15,808 714 6000 4200 540 1,260 9,094
=S &K A=162,708m
=0l Alo] (2011-2016) 15,000 7152 4562 2,494 320 1,748 3,286
oA okslf B 87l &~
[e; °|-7§:jl:| AlSd
o4 OF&{ H| A} (2009~2019) 24,996 5843 2357 1,650 707 16,796
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FE (Ard712H) el A =el | zs Alzel gjg TA
SRColE 14]
=2 7l (2013-2015) 3,200 200 1,000 1,000 2,000
IESINPSIFSEN 174 12389 8089 4300 4,300
(2011~2014)
SEYFI|UES 7744 27070 23247 2850 1,995 855 973
(1994~2014)
A Zaf obet L=3.0km
Erutz =M AL] (2013~2015) 7,000 400 5000 2500 750 1,750 1,600
274X A L=90km
2o m| (2009~2014) 23684 18984 4700 2350 705 1,645
ey 2YX|FL| 97 5HA
SHE AY oY Off BFAL
S RN 5l off AR (5009~2014) 28942 23919 5023 3014 402 1607
Motete 2 51 L=7,060m
= xx|ot o)t (2013~2020) 67,700 800 3200 2700 500 63,700
FEAM2EREIX A=416,565m
= Ao (2010~2014) 22000 13674 8326 946 = 7,380
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